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The traditional Japanese wooden structure collapses at its 1st floor in the calculation of response and limit Strength. To 
prevent the structure collapse at a given floor, equation of every story deformation angle is required. The continuous 
column of heavy timber over than 180 mm square is projected to average story deformation angles. In this paper, the 
calculation method for the section size of continuous columns is proposed. Results are as follows: 1) The calculation 
method for the section size of continuous columns is consist of 2 equations: the equation for flexture capacity and the 
equation of difference between defomation angles. 2) The proposed method decreases the negative gradient of a Sa-Sd 
curve.
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Tests for Resisting Force Characteristic of a Bearing Wall without Fixing on its Foundation

1
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A bearing wall needs  the fixing the wall on its foundation to resist the horizontal force. But the column of a Japanese 
traditional wooden structure is not fixed on its foundation. In the previous paper, the resisting force calculation method 
of a mud plaster in a wooden frame without fixing the bottom of a column is proposed. In this paper, 1/2 scale test 
pieces are loaded to present the facual evidence  of the proposed method.  Results are as follows: 1) The 1/2 scale tests 
show the effects of both dead load and the stiffness of beams. 2) The proposed method also gives rhe storey 
displacement against test results using the MOE of beams.

Keywords: mud-wall, failure mechanism, evaluation method, restoring force characteristic
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